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INSTRUCTIONS TO CANDIDATES

Read the feflowing instructions carefully before you
angwer he guestions. Answers should be marked in
the OMR Answer Shoat using biack ball point pen.

1. This bookist consists of 100 questions for four
subjects with 25 guestions in aach subject.

Register No.

lﬂm.gig ni'l:t_l.uﬂuu;pg ey J’Gp
iy

mm AEETE & QAT

v sy S ame sguy Sp e Saraw

usgissaner | Jussralerrd: OMA afes & refla)

e

1. Gps dleamglenE iy gaflarm U f8iesh
25 cllmnad <S50, peia L Risignieis Cetig

1-25 Mathomatics Ghorgzin 100 eflammSassars Geram(lamag
2%-50 Sclenge 1-25 saellnn
51-78 Socisl Sclence 26-50 bl
TE-100  Mental Abifity Test S1-75  snpa suflethus)
TE-100  wargdipen Gaiey
2 Eachqueston cames one mark. 2. galands dilenel hmh g w00 apell
Sl (e,

1 Sincaihe lime slioiied to the Ousstion Paper svery | 3. bl vk g L gD Coih s
limited, you should maka the best use of K by not gl B G o fi eflerrell o o
sganging oo much time or any question. pflanma Cppdars deanfldn Taem o

4. Il you do nat know the answer 1o any question, do | 4. glagd Wardips diol Fsfusdiiond,
net spand much ime on |t and pass on o the next sippars ads Igrpms Seadlung, mEss
ore. If time parmits, try the guestions which you shlarnehl figg sdleanLurefidsanh. Cora San L,
havie kL in the firsl Insfance. ahlfiu s Sl el o stk g ibidash

5. Biank pages are proviced for ouphworkattheandof | 5. o fppemed Gelmuriss Sappgarisd
the Quastion Scakial, [Blank pages) dlamglgrguda Qofifa

i (e

6. Chooas the comact answer hom theoptions giventor | 8. peGlaumy sflenmefifm:: Carfpdau fder orh
assh question and darken the corespanding circla Haosefidlonbg Sk sflure e fams
with black ball paint pan in tha OMR Answer Shaal. sar gy, sey OMR e garals o fiu

abgdle smoy Bip en Geadee ofs
gpwenss Cummeflend B Camr@n

7. Handovar the OMR Answer Sheet o the Invigilator | 7. mﬂn_#raﬂmmﬂmﬁ.;:mﬂm
and the candidmies arn alowed to take Ihe Cueslion Wt S ﬂil'r"lm-p.l@uu @ e U ST
Bondat wilh thaim, gl hEms demaon,

IX-24 1 PT.O.
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MATHEMATICS / senflsib

The sum of the digits of the denominator in

themphdﬁmﬂ%il .
mn 6 @ 5

@ 7 @ 4

+6-2-
m ; @1
&y =3 i+ ;
Statement (i) :

The cube of every odd number {s even
number,

Statement (i) :

I a natusil number ends with the digit 3 or
T, its cube ends with the digit 7 or 3

{1} Both the Statements are true.
2]  Statement (i} m true and (i) is false,

,_@ Statement (1} s false and (ii) is true.

{4)  Both the Statements are falsse.

4. Which of the following is trae ?

(1} I+3=3 (14 ] 3“‘::%.:1

sy2 _ - 3

@ (5] ,| E]
X-24

1.

%—:—; -Ba adflu agdd oda

L flulicn Baisisaficn s Hsd
(1 & () 5
3 7 4 4

M 3 @ 1

2
@ -t @ -3
sam (i) :

paart gpapliue  errafis
H@nogeng (=57 a1l R el eTjEhio,
Sammy (i) :

g S raramang 3} sdag 7 E@d
g hard, g sensreg apGu
7 g 3 -B@ 1pig Ly

(1) Erad sahpssmb st

(7)) semmi (i) #0 whod () e

{3 sabgi (i) geim wpge (1) s,

(4)  Erend sahpisgHid Ha.

Elaraumaersufper g #8 7

55 1
(1) 3*+3=3 @ Fixs=1

3 1-I1l= 4 =
B () =3 W 5] {2]

PTD.
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8. The perimeter of the given figure is

L e
|.__
Sem
]
1y 3em .0 \.@ 35 cm
(3 40em 4] Sem

fi.

The area of the shaded region of the given
cirele with centre “0F and radius ‘a" units is

5q. units.
| 2
i ™
1 &1 oy T Jr——
LIS
2 2
™ ™
) 3 4 3

7. Number of sdges, faces and vertices in a
trisngular pyramid are

respectively,
1) 64 @ 855
M %265 4 486

.  The arc length of the sector whiose area is
154 em® and its radius 11 cm is

{2} 4dom

@ 28 cm @ 32em

https://www.schools360.in/

5 @si8
(1) 30 Gl (35 kel
@) 40Qs8 | {4 50Gs8

'O - ena SMDILILOTSGD ‘0" NN HLTADLD
Qerar.. GsrBdsiull wll gdd
fgadlOuce usSdd uFluerey

8. iR E ST,
M ‘%: @ ‘":
M F::* {4 J%I-
e paGarar Grled saohgdn

eflefiin e, ppstusdr wdmib o sfsafla
ararantigans apanpi .

M 644 () B5F

(3) 9,85 @) 446

11 Q. gropde i ECsmaml
ugBilen urtueae 154 G aafla,
citdaiien Bemb -

Yy 77Qsi8 (2) “Qsd

(3) 28@sd W) R2@sl



9. W{a+b)=3 and ab=>5, then a’+b* Is
—18 2y 18

& 722 " -

10. I 37— pr+28=(x—4)(r~7), then the value
e . L,
1 =3 m -1
@ 3 @ 11

11.  The smallest numiber of ths thres consecutive
numbers i (1—2), then the greatest number
is:
(1) (z+2) 2) (z+1)
@ (-1 @ T

12, The straighl line y=51 alwavs passes
throuph ;
(1) (0.5 2 150
(0, 1) ™) (.5

13.  The cube root of 6% Fibonaco number is ;
mn s ) T
2 w 4

4. In a triangle ABC, ZB=90", then the
Orthocentre of AABC lies on
() A
(@) »
3 C
) Hypotenuse

(a+b)=3 whmb ab=5 srafld), a*+b*=

18
-7

(2)
(4

(1) —18
@ 72

10, ri-pr+B=(r-d){r-7) oefl@, p -

13

14.

ooy
M -3
M 3

=Tl
11

(2)
)

aar (1-2) safld, BsuQuflu eadr

BB,
@ (x+1)
o %

(1) (x+2)
3 -1

y=5x sreip GptaGamrangy eriGungih
wljfines Cledgud.

(2) (50
@ &3

(1)
()

(0. 5)
(0,

sumralgy HUGam# srameflan smppah -
(1) 8 ) e
M 12 ) 4

AABC @ £B=90° srofld, AABC -&
GediCam i enwowih ki Semwwib 7

M A
@ B
@ <
() stenpden g
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15. AARC - APOR in which £A=63" and
LB =57 tham LR s ;
wow @
@ 12 (%) o

16. Which of the following are co-prime
sumibers 7
(1 (8 10) @ (8 12)
{ﬂ!) (H. 15) ) 8 18)

17. Il two sngles are both congruent and

supplementary, then they are

(1)  acute angles
%) right angles
(% obtuse sngles
(4)  all of the above

Thie lesast timi taken route from Ato Es;

@ A=B4CoE

M A=B=D=E
M A=B4C-D=E
4] A=B—=-D—+C-E

15,

17.

https://www.schools360.in/

ABC - APQR. Mhﬁ £B=57

erafld, LR gyeng
(1y s0°
(3 120

._«h -ii“ 4
||

A Ay a e apIE T wel Mﬁ l.m
sramEe 7

() (8 10) @ @13
3) (8 15 () (14

Bm Caramisd m Weny
flodllamr sah ﬂguﬂ* Maa
— 4Eh

(1) SprGsramsar
(2) GeiCsramiisd
(3 A
4 Cwpsdiu smadgo

O

A-ulell g E-&@ dsde @appe
sarey Gprpma srhims Gane @
cuddmtd

1 A=B=C—E

2 A=B=D=E

3 A=sB4+C-2D—=E

4 A=BaD—CoE



18.

‘ -

e

Match :
@) Certroid () Angle Hisectors

{b) Orthocentre (i) Medians

() Incentre {iit) Perpendicular

b tors

(1) ()i, ()i, ()4, (-6
(2)  (a)-{i), (i), (oL, (defi)
(B) (ol o) (e (i
(4) (i), (oG, (-3, (difiv).

In how many ways can vou answer | 20,

2 multiple choice questions with the choices

ABCandD?
@
) 64

(1) 8
@) a2

I x% of 1=49, hemi 1 Is ¢
(1) &0 (2) 50

@ 70 4) 80

& person bought 8 articles for € 1,000 and
sold each of them at T 120. Then his loss

percentape is

1 10% @) 5%
@ 4% ) 15%

IX-24

19. Gurmigis
(a) BE&GSTLH () Career Ghmsin
ennith Qe sar
(b) GCsRGsrid @ po&
aoiowih GEnEeT
() msmauli (i) ennwis
&0 LD (i
Canlpsar
) sppaul.  (v) Gleugigs
00D Car B

(5) fab), (o)-(E), ()-v), (d)G)
(20 (apfif), (o)-iv), (c)-faslh, (d)-Gi)
(3) (), (b)), ()0, ()-{ai)
3 (a)-{i), (D)), ()0, (d)-{iv)

Erar@ vaspr Ggfla Barssaiid
A, B, C wpgo D Al ayaef dlmps
ailiuran el oug Cstpls(és

srganan eligran auflsdr o drarer 7
1 s (2) 16
3 32 (4) 64

- x-@ x% erang 49 aafld, x erdmgy -

(2) 50
(4) B0

(1) 60
(3) 70

goat § Qur@tamar ¢ 1,000-5@
aurifl, gaters Jurmeasyd
T 120-55 oplprt safld, sl

e ph plL spebpn
(1) 10% @ 5%
(3 4% (4) 15%

BTO.
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23, Anand can do one-third of a work in 8 days,

He can do % ol the same work in

_davs.

(1) 24 (21 32

@ 18 @ 16

24, The range of first 10 composite numbers is

_—,—"'
m 17 ) 16
(3 9 @ 14

25, Monthly expenditure of Sudaroli's family 1s

given in a pie-chart If he spends ¥ 12,000
for education, then the total salary of Sudaroli

i
50%
Food
W%
Education
L1 10% Savings
Miscallaneous
(1] T B0,000 (2) € 75,000
(3 T 50,000 {{} T &0,000
X-24

3. gaps oo Sasala pafia o0
uHenw 8 prisafid el sruild,

et b Gaenadd % L e

mrLsafldy (pig L.
(1) 24 (@ 32
(3 18 (@) 186

0. wse 10 ug eesda s
(1 17 () 16
@ 9 # 14

5. s Qpraffide Lrsé HRbLE ey
st sherhal uLsfde HanBEal
ul Gerang. st sddlisrs T 12,000
Gaemey Gebgre, Safim Borss
SUHLOT D .

1%
ElM_a
5 @wr 1oy ey
(Smabisen
{1y * BO,000 {2y T 75000
@ 2 50,000 @) T 60,000

https://www.schools360.in/



Which of the following memperatures indicate
that you have fever 2

@ 100C
@ WK

(#) Al the above

Which of the following liguids has more’
viscosity 7

@cm

(2 Water
() Coconat oil
(4) Ghee

Kaleidoscope works on the principle of

(1) Regular reflection

Energy requited o raise the temperature: of
waler in a trough o 1 K s 1000 JK-1
Calculate the amount of energy required to
rafse ite temperature by 10 K :

(1) 1007
M 1k

26,

7.

ke QB 0 s s
sTLFsd ooy a@uep &fluns
sisibag ez ?
1) wec (@)
(3) WK (3 Bew smagnd

100°F

&pssrgnd Srads@ma op s
ungilene oanlwgy ?

m Ak

2 §
() Caksri) eranani
W Opi

sanaiLaEETL) _ EEmcudfdn
g CivienLullés QawduBApgy.

M) gupisre sfrmaiiy

2) guglsbp eBQrmefioy

0 gl chieond

(1) gefifen udnpos eAGTafidiy

ffgr Qatiufaaol 1| K swuiss
1000 K- Gaaud GegaaiuBapy.
Ssgar Galiuflavau 10 K o wuifs

Cpenauniran G s fHpd
{1y 100} {2
M 1W @) 10k

RTO.
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0.

al.

You are rubbing a glass rod with silk and
your friend is rubbing an ebonite rod with
fur. When vou bring those rods nearer, whai
will happer ?

(1) repel

@ nttract

(3)  sometimes attract and sometites repel

(4)  neither attract nor repel

Asound bas a freguency of 10 He and a
wavelength of ¥ m. What is the speed of the
sound ?

1) 700 ms™1
@ 70 ms—!
(3) T0x10°2ms?

{4) 700%10°2 ms!

3L When gold is suspended in an external

magnebc field, it will ;

@ align perpendicular to the direction of
thi Feld

(2} align parallel 1 the direction of the feld

(3]  dues not respand to the feld

{4) gets magnetized in the direction of the
fiald

IX-24

10

30, G sararTf Seit@L U Digefiunn

Cpusdprl, eogy pawuise sOUrmen
gawwL. sousiurd Cehdfpre,

Bran® s smerb T i
Qaman® aimbGUIE odren Bagph 7

(1 dlasoaiyb

{2} riréEb
(¥ HAaGprliseiae mragnd fo
Cpyriiaatia aflasweac b

) riasCar, deswacutsr
Wedirg

@t Gl 10 Ggpi’av serQam whmo
7 6 s@afod QarenBérap. s
mpelifler Geusib sremar 7

(1) 700 ms?
@ Mms!?
(3) T0x10-7 ma~!

(4) T0x]10-2 me—?

EREEME &y iren
Wgmizsatlib Curg

(1) uyagfa Hosis Gsmumigra
LT

(@) ymghldr Hardy Powmwurs
B

B yegard urfEsiuorg

) snpgugeisea
sTharEns

arppuesfa

Has e
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33 The aim of launching Chandrayaan - 2 wan | 33, splgnwes-2 Hosiar
wexplorethe  pole of the Moon. sowl ugdeu ey delaag
Gpraswrss Dareb g
(1) North @) south. ) enip @ Gape
(3) East 4 West ) Apss W) by
3. Find the incorrect pair. M. peiprer Geancsk sl sseb
(1) Water - Hydrogen Oxygen B - REn IR,
apadign
(2) Nitric acid -~ Hydrogen, Nitrogan, @ eoplfa - anCpgen,
Oxygen mthl aniny HHL TP,
sﬂw _*W._._ -, S “"‘*‘“ﬁ Hﬂ;'
Réfigd
(4) Aceticacid - Carbon, Hydrogen, M) aflgd - awiaen
(Vinegar) Onygen suflein ORI .
{ ablaafl i) g bl
35, Which one of the following contains a high | 35. Saamemapps ueuy Sopeap
lewvel of polyunsaturated fatty acid 7 Cariy sblob aaupiia s8sb
mm?
({1]) Fishes and meat (1) Besadn wigh @apsd
{Z Eggand milk 2} eleL whgh L
(3} Vegetables and fruits @ anlsfsdr ohmb vpdsE
(4)  Cereals and pulses #)  prahonadn ohgh LS
IX-24 1 BTO.
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36, Complete the following equation :

39,

1¥-24

#00, + 6H,0 Enegy frowm the sun

+ 60,

()
)

Cialalyy
C:Ham

(@) GO

{#) CHy-0-CH,

Amn atom has 7 electrons in (s outermensit orbit.
For obtnining stable electromic contiguration.
it has o "

@ gain one electron
{2} lowe wiwe electron
(3] neither lose nor gain dlectron

fd) Mo of the above

Usha bad heavy dinner and she fell
uncomforiable. So her grandps advised her
o drink a smmall amount of Oma water, If
she drinks Oma water what will happen ?

(?ED Digestion will be faster.

(2] Digestion will slow down.

(3} leritation will be there in stomach.
i4) Nothing will happen.

Which of the following chemical can be
applied for wasp bite ?

(1)  sodmm hydroxde

(2} axlinm acetate

© v

4] potasstum hydroside

https://www.schools3

12

60.in/

Ripamain swemnsn. Slanpays Gl
60, + 8H,0

—sfualdogy Quelu(i gios
— .
1 CpHn0,y,
A GH.OH

(2)
(4)

GHuO%
CH,-0—-CH,

1] & FailImes THEE

@) 6w s sron Bpisd

@) swalgreer Bipesaih Galung,
ghEaD Sednng

(4 Guopsfiu gzdlos

w.egT sramueult @rey # g GarCGng
sflswrer eonaow  THEBE
Gasram.gra s@smsfluors o antp

ST RUT S| S a0 Saseny Hfigerey guo
feanr Lmss Gevdaanmt. et guhor

upsdenmes erener Hago ?

(1) Qaflorand gfsluBssiuEEn

(2) Gsflorand grogluBEsouBL
@ Gerieuda eflEsh ghuio
(4 gegd By

worel Gariwanrs Epadr ahE
CeuflOGummeen UwerUBEEACDTD 7
(1) Comguwid eogbigrams b

2) Goemgud S#CCLL

(3 elleflsi

(4 Gurilrdluk e yTEmed)



4. Match the following :
fa) Lignite (i} 45 - 86% carbon
() Sub-bitaminous (i) 86 - 97% carban

(c) Bituminous (i) 25 - 35% carbon
{d) Asnthracite fiv)' 35 - 44% carbon

() -, (oG, (e, (A)-40)
121 fag-gaa). (b)) (c)-(iv), ()i
(3)  ali, [)-iv), fe)-(ii). (d)-(iii)
) (al-frv), (b)-gu), (ci-(ii). (1)

41,  The future fuel which has the highest energy

and does not pollute air is
(1) Coal gas

o i

(@) Hydsogen gas

42, Which of the following disease is not caused

by fungus !

(1) Dandruff

(2) Ringworm
(3] Athlete's foot
(4)) Tuberculosis

43, During inhalation :

@ Volume of thoracic cavity increases and

pressure decreases

(2} Volwne of thorace cavity decreases and

[prestine increases

{3} Both volume and pressure of thoracic

cavily incromses

4] Both volume and pressure of thoracic

cavity decreases

1X-24

40.

{a)
(b)

()
(d)

41.

Bummiss,
dgmer’ (i) 45-86% sriuer
Simeon (i} Bb-97% smiLem
L TR
G- Gllareo (W) 25 - 35% smitud
ayppresl  fiv) 35- 4% aniud

(1) (a)-{at), ()-(iv), (c)-43), (d)-{ii)
(@) ga-{i), (b)) (e)-(iv). (d)-{)
3)  fal-fi). (b)) (=i, (o))
(4)  (a)-iv), (b4, (c)-(ui), ()i}

sTpED WISOLEHHNE SHES SDDeeE
posvdey e flisae el Gungd -

(1) &mice eumy

@ BEtsan sumy

(3) edusd amy

{4) oap g ey

4Gy Gar a0 Ul L aif g
WSt gL Cpnd g ?

1 durhs

(3)  egemens Uapdads

B3) &ré urggdd Crmi

4) mrs Gpml

e dsanshSdn CLng |
(1) wriuenpusdn Qarararars
=flafign suphsd g@pun
(2) wmiusspuilcn Qerdrarara) @eonis

gisid oyflafliis
WO L en iy 15 e GaErdTaTeTayb
=ipasaph sflafadlpg
4 wvrivepde  Gardererab
SpEspn pendpy
PTO.
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4. in o natural bio-indicator of | 44.
climate change and air pollution effcts.
(1) Alga
Lichen
(3)  Hryophyies
{4) Bacteria
45. FPick the odd one out ; 45.
@ il
{2} Purple frog
(3} Indian giant squirmel
{4) Snow leopard
46, Bacterin are grouped under the Kingdom of | 46.
Monita () Protista
Fungi ) Alg
47.  Assertion ; a7.
Vaccines are prepared from the dead or
weakened microbes.
Beason :
When the vaccine is injectil into the body of
 patient, the body prodices antibiotics,
@ Asserlion is correct bul Reason is
WO,
{2} Assertion and Reason are wrong.
{3)  Assertinn is correct and Reason
explains Assertion.
(4] Assertion is wrong bul Reason is-
cormect.
1X-24 14

— svafew orhpssaeh
snpg wrau@gdian dimarajsaarb
cllesmbh @f Bubes eu@fi-
Sl LITERLD,

{1 wewr

{2) ks

@) SenrGurenui Bas
) urkmfiue

a Aes o 5 Criiapphaa
M @G

(7] o= gFevepen

@ B rrisy ssfia

) weléfmpeos

aleslir g wdld urse flurksd

eréiip e ssgian £ G

A —

(1) Gomefigr @ uGemigsoor
(3) esans (1)  -menmn
SaDm

slhuyfsd Bops Gura sdagy
L e e i rd SO UL i gagy 4l
sNTemna

Crrurdfisefle woda shogfan
CogrdgbGung s wrag

(1) s=pp #fl, swwesnd saug

(2) S=pEi DHED SITEND Hoiy

(3) s=pgy & Cugh sryeerd
 Baver clstéal

(4)  SwDEU SAUL ST STTERMD W1
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48.  What happens when you reduce intake of | #8. prib  sré@flubd el Qsrdaes
calcum ? GopsEbilrg s gpuie ?
(@) csmoporosis. (1) oo CunCurCrrflay
@)  thyroid 21 mgrmiiG
(3)  muscular growth jssue I{ﬂl peos cuariéd gepuni
@) anemic ) Brgs Comans

49, = is also known as ‘diarthrosis’ | 49, Wn%@qwﬂw Ll
(2 Stightly movable joint (@) shm per s apl [

) Freely movable joint @) peré sugs g5
(@) Synovial joint ) SCerdue npl®
50. The Red Data book contains data about: | 50. Aauiy gusy ubpsiflar srasd
Tepep gllisd 7
@ endangered speces ) ﬂﬂuﬂm Byl grarar
() deforestation () =1@ iy
(3)  afforestation (3) &y eusmiiy
(4]  reforestation (3) s Bareusivcn
1X-24 15 PT.0.
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51.

(2}

(L

)

(d)

SOCIAL SCIENCE | sewps yfilefluisy

Match the following :

Treaty of
Aix-La-Chapelle

i The First Anglo

Muysore War

The First
Carnatic War

Treaty of Paris (i)

The Third
Carnatic War

Treaty of
Srirangapatmam

Trenty of
Madras

{iv) The Third

Anglo Mysore
War

(@) fa0-fih (30, v -0
(2] (odif), (Bjflv), dc)=di), (d)-{iii)
13)  fa)dav), (bp-Guil), (ch-{ii), (d)-G3)
14 fa)-ti), (D0, (i), (v

Which commission recommended free aind
compubsory education for-all the Indian
children in the & - 14 years of age groap 7

The: Hunter Commission
Or. Eadhnkrishnan Commission

m
(2

{3) The Sargent Commission

@ The Kotharl Commission

IX-24

16

1.

(&)

i)

()

Gurmgie.

Sl-wr-slGud () gpsd

LRI e A Sl TR
@ Guef

Ll @) ppsa

sLangdms FETLS
G

Lgiey (iv)  ppampmb

ot g dens ol G
e Gt

(@) (@G (-l (i), (d)-ciit)
B fa)-fv (i), (cH(R), (d)-()

(4) (a0, (EI{i), ()i, (3-fiv)

wbgd adaldmp 6- 14 eilmssl
Sienengg SipluE GEHessendsic
Baasr ooob S LNWE s
Liffggeng Gadisg ?

(1) anaEr_f Lanamuh

@ Lr&Lf Syewgm &) ety o et
ER w

(3} srigen’ soalEg

() Canggrfl syemnub

https://www.schools360.in/



53, Find cul the wrong pair |

(1) Rajs Ram Mohan Roy - Sati

(2) Ishwara Chandra Vidya Sagar -
54.  The Indigo Revolt was led by whom ?
(1) Mahatma Gandhi
(2)  Keshab Chandra Roy

“Agoen’s Tasbu” an e ?

W Iw“mhﬂnmdhywumﬁmal
Agmew in June 1500,

It resembles o Ewropean hat with a
badge of cross on it

Both Hindu and Muslim soldiers
wceepbed it

This was considered @ the immeadiate
cause for the Vellore nevalt.

(17 (i) o (1) only

() (i) and (idl) only

(i) and (iv) only

) (@ (i and (iv) only

53, Qunspses Geareud s s

(1) @regrymb Guessyrd - 5§

() meveun spdly eFUTSTRR - el
LT T A

) JED. Glugian - srypr sl
) smgugBoisa - g

mflﬂr (o ) Bartsdl Lrgrad
prmanuhy pogs oy 7

(1) wanpur srpd

m m -"-rl IFI fﬂl:l

3 #nhuh'r Gdvars nhgnb Geugy

4] ﬂﬁ\‘ri cudieaLimics wi' St

5. Cakefy  geecuras”  upfio

0 Bp gD 1509 b gyered
Wrvepe  aauf  skafly
sreusnipT SRR

Aggaa Aaapgod s w
wGrmisu Ssnidme sHRmhos:

Bt whpbd gk i
Ba Swgnft sosiHE® Ligs
aryemans swwbdmbsy
(1 ) whgb {6) w P
(i) Wi (i) w o
(3) (i) Wb Gv) wi b
() i, Gy whmib (iv) wsEb
PT.O.

i)

()

https://www.schools360.in/



5T

IX-24

Steel was first manufactured by modem
methods at :

(1) Jumshedpur  (2)

@ Kalti (4)

An important port in the Kingdom of
Golconda was

Bombay
Salem

(1) Visakapattinam
(2) Nagapattinam

Masulipattinam

(4)  Kalingapattinam

Assertion :

Indian handicrafts collapsed under the
colonial role.

Reason ;

British made India as the producer of mw
materials and markets for their finished

products,
@ ﬁmﬁunmmmimmhmm
explanation of Assertion

(2)  Assertion is correct but Reason i not
the correct explanation of Assertion

(3)  Both Assertion and Reason are correct
L] Eﬁﬂiﬁlnrﬂmuﬂlmnmwmg

18

56,

—— @D @B g gpgen
wepurs pdfa waplld oty
sunfidaio g

(1} mrblesiyuf () wibum:
3) @y (4

Cean

Casrdlaranir arfig (s iy
BanDamih

(1) slsraciu yens
@) pradiudeens
(3 wEmdu b
(4 mﬁhhm::ut'_wuh

SO

By esdlommiad G g eyn i
sraafiul g Pisifi palappant

ST

SR eyt  @DiBwrae e 5
audurmer surfiuregrsen,
g &ypm Qurmi. & @& srer
Fherguraan smBent

i1 =mpp *f, srpemb S & &0 e
eflarisin

(2} =mpp =8, mame sbepi
snyamih sflurs doisafidame

3)  spjib Ary@FEiph =F

(1) spgn sryewapi semmaeea
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59. Ewveont that occurs due to the fallure of

The peocess in which the water content in

the plant t5 released into the atmosphere in
the form of water vapour i= called

(1) Evaporation

(2)  Condensation

@ Tran .I o

{#) Precipitation

61. Statement (i) :

Sedimentary rocks consists of many layers.

Statement (ii) :

Sedimentary rocks are formed by the

sediments deposited at different points of

e
Statements (i} and (i) are correct and

(Z) Statements (i) and ({) are correct bhut,
Statement (ii) does not explain
Statement (i).

(¥) Statement (i) is correct but,
Stabtsnant (H) is incousect

(4) Statement (i) 5 correct  but,
Stateenent (i) i incorrect.

59,

uma e duniiddé sryeswors
giuiGdps.

(1) mefl smhmsD

@) spld

0 sdlungd

) wagoGungiay

60. graughseld cda ff gelurd

&1.

18

R

ausflosn. wid @é
[ALITEr Ty B 1D

(1) B aellungd
(2} BF smagsd
(3) & elsdipsy Qastided
() wegOGiunfe

s (i) :

L, ) 4 LT 0 T S T

oy [t pnarrd (s b gve.
sy (i) :

Uiyl Lmanmasen UG smamsatic
BT T e .

Lrab Gheu gy

(1) swbm f). spa i) o7 whpd spm
(H) sz =mpp () &5
efliinen efladmb,

(2) swpp (i), spp (i) &f gond

mpm (i) Sorg smpp () &5

st efiendmb e,

&pm (1) of pord sy (i)

paily

smpm (i) of merd spp (i)

bt ]

(3

(1)

PTO.
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62, Match the fullowing : 62, Glummisis.
(@) Judidal sector ()  Non- {a) Bfmgenm i yebllod
Geographical RS
fnctor L ]
fb) TV Telecasts (i) Raw materials (b) Gpramssm (i) peeu
gl Gummoad
(c) Geographical (i) Qualernary {0 yeRliRue (i) poensTn B
Factor activily Empaksdr Geswsiin(f
(d) Capital (iv)  Quinary {d) mpeganb v maanh Heow
nctivity Emary
(1) fa)ea), Mg, (c)-fiii), (d)-fv) (1) (e, (bh-G). ()4, (di-{iv)
() (a)-{(H), (b)), (c)fiv), ()=t (2)  (a){i), (b)-iid), (elfiv (it
(30 (arfiv), (G (EpCia), (-() () (a)-tavh (b-{), fe)-(st, ()40
@ (v (-G (ej{ii); (10 (4)  (a)-qiv). (o}-(i), (ch-Gil. ()i}
63 Which Continent ts known as “Conbinent of | 83, "4l el il.lli'ri_llu!'_' e
Science™ 7 axanpdsiiuh sarLib ag ¥
(1) North America m e sGuwliEsr
@ Antarctica (3 @ TimaT
{3) Europe % glyriur
(4) Australia (4) SeodGreiun
64, Fromthe following find out theincomectpair : | 64, &Spbssir_ambmer geupnes Benamenwud
' mam_fila.
(1) Isotherm -  Equal temperature (1) glenllghs - s Haluk
ey
(@) tohel - Equal mtmospheric () gCerQad - sw ATEDOESS
pressure: Caxp
@ lwohyets - Equal amount of () glsran@pidu - S0 pEPUEWS
rainfall G
(4) lsecryme - Equal lowest mean (#) glsvdaplh - @m SHOG
temperature for a shwger prram
specified period sin Glaude)
Hlened Sarh
I¥-24 20
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65.  The maps which am known as plans as :

66. Match the following -
[0) Chemical wastes (i) Organic
Solvents

(b) Flammable wastes (i) Wastes resulting
From ordnance

manufacturing
i} Salts

#}M
MM

ﬁyﬁﬁu

(v)  Automabile

@ @Hw, wwwm

67. Service ariented sector is
(1) Private Sector
{2 Ioint Sector
Public Sector
4) Co-operative Sector

1X-24

65. darr@wad cap sopistiuBile
LU i b,
(1) srafiuedl L dissr
@ poduLbad
B) 0 weradlan G widisd
() Curd@aTags ULt

i) &hiio
sepliindradr

M) e Ssam

b} sreffd
Auupmageiw e fubf sifiey
n;ﬂn{ni

@i ST MUTLST (i) el
s\flewedr

©

(d) Qe CiQummsdr (iv) aursen

ﬂ ) - i
m
@
3
@

(@), (B0, (), (d)-(2)
(3-4i). (bl fc)din), (edifiv)
(-G, (3-8 fech-(hv), ()i
(-{5v), (o). (k). (-40)

M seflwurt g
(2) sip e
(3 Gurgs gieen
4) &L_BHrus peem
PTO.
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9.

IX-24

Pick the odd one opt

Recent forms of money transactions are

(1) Credit card
@ Bairies system
(3}  Debit card

{4y Online banking

Statement (i) 1

Savings are made bo fulfill short term or

urgenl npulrements.

Statement (i) -

Liguidity is high in investments.

(1) Statements (i) and (ii) are true
Statement (i} is troe but (H) i flse

(3} Statement (i} is false but (i) is true

(4} Statements (i) and (i) are false

An exsmple for the joint sector companies
i

{1} Trrigation projects in India

{2) The Reserve Bank of India
(3)  Air lndin
@ Indian Synthetic Rubber Limited

Who promoted mixed economic system ?

(1) Mahatma Gandhi
(2] Rajendra Prasad
3] De Radhakrishnan
Jawaharlal Nehru

68, Qurmpang adrpd GstEEaHEsa)D.

uflorhoéfines versSa sBusfu
g ot

(1) Sia S mu

() M!I npeem

(3) upD sl

- ﬁmﬂ-:

Grfly spfu sre mdey
sty (i)

gl fionin pdwns afisn

(1) s~ (1) whiph @6 5

(2)  smppi ) & e ) geup
(3) hmﬁipmmwhﬂ
(4) sapmy ) wiphd ) s

a4 pop fpaansmss @i

e st -

(1) @pdurdgers  Brourses
Al kssh

@ @i e ekl

@ ot @dfur

) Edud Qewpens Tk Hipeuanb

. saly Guimensiyies asfiswi

it 7
(1) wsigor sep
) Brrleply ek

@ Lusii @onschmsisend

) mapntand Cpm
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7I,

3.

T4

IX-24

ﬁnﬁclwhichpmhchﬂmdﬂl'dren'ﬁmm
sexyal offences s
(1) Right to Education Act 2000
(¥ The Child Labour Act 1955
(4)  The Juvenile fustice Act 2000

Pick the odd one out :

V
@

Which force is guarding sensitive
governmental buildings, the Delhi Metro and
Adrport ? :
(1) Central Reserve Police Farce (CRPF)

@ Central Induustrial Security Force (CISF)

{3)  Special Service Bureau (558)
4} Special Frontier Force (SFF)

{1) Give way,

(2

®

]

No entry,

Right hairpin bend,

Speed Limit.

muﬂlﬂmnﬂ-ﬁ;ﬂﬂ:mknppmu
by :

(1)  The Chief Minister
(3 The Governor

@m&m

72

74

75.

unelwd @0 o il mps
Gphmpsaas Ungarisn & b ;
(1) ssiefl eflanwod sl ib 2009

) GuréGsr s b 2012

(&) Epbeos Cemforeni s b 1986
) Ao B8 s b 2000

Gurmbsrs sawnd Caipsdsss
W | \/ | @6

@
A

TS LnESrIU e oS0 i

SLLruser, GLdd Gulrr ohmn

eilomen fenauges unysrsdng 7

(1) opSu faie srash L (CRPF)

2} wiHu CQemfles ungsmiul us
{CI5F)

@ #piy Grevar Lsasflusb (S58)

4)  Apiy sdeadiyp Le [SFF)

(2) e mgod Gidama

3 iy Sarara cordl sucmamay

() Gausd s (RLLn ([ amay

Bliuioatn
(1 oppwnsst

(21 drgo wpdfl
M) Sglemr

) Syured geoaart

i fflwap gawan 28 ULHau
REIINE

PT.O.
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MENTAL ABILITY TEST / wangSlmsnn Csiiey

Direction (. No. 76, 77) afwep : (el aaw. 76, 77)
Find the next mumber in the following series. Garauml Geridseild wBism @umd
Fammans aanLfls
76, 59,1631, 60, 2 76. 5,9 16,3160, 7
@ 118 @ 18 (1 119 (Z) 118
(3 132 4 13 M 132 @ 131
77 L7, 82,257 2 77. 207,82,257, 2
(1) 575 2y 415 {11 575 () 523
@ #26 (4 730 (3) 626 @ 730
Direction (Q. No. 78, 79) awiflgpenp : (efl. eraim. 78, 79)

Find the missing rumber/term in the following, | elRuUCL oar/srpguss sewfil

7. [ 6 ]a] 2 78. | 6 | 40

9 |65 | 4 9 |65 ] 4

7 [sa] ? 7 | ®0

1 8 @ 9 (1 8 @2 9

(M 10 w 7 @ 10 w 7
79. EXL, GVN, ITP, KRR, _? 79. EXL GVN.ITP. KRR, 2.

(1) MIT @) MPT ) MIT @ MPT

(3 NPT {4) MNST @ ‘NPT (d) NST
1%-24 24
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Direction (Q. No. 80, §1) afigpap : (¢fl. erar. 80, 81)

Find the odd ane oat. Gaguils gpanps scmn s

B0, 9,11, 13, 19, 26, 36, 50 80. 9, 11 14,19, 26, 36, 50
m 30 :_@:ﬁ () 50 @ 36
3 1 4y @ @ 1 4 o

8. X, W, U RN.JC L. XWURNILC
(1) R @ N (1 R @ N
@l I @ c 31 4 <

f -

82, If the time in a clock is 205 pan, then after | 52. sustrgfod Copb @UCurg 205 pan
20 hours 55 minutes, the hour hand of the waild) 20 el 55 Hillkisd s f5H
clock points towards which number 7 sysrpifo Ao i ops sarmen

. : . e
@ 1 2 8 m 1 @ 8
3 12 4 1w M 12 4 10

83, Identify the relationship of the given pairand | 83. wsé Greand aar [ TWH s EH

find the missing one. Hlan Cw s sver GgmiGener sar i,
ARule @ | Tyiass e
B ssayb,
M'L-MHDHL:_L CS4R: BRSO s G4L: 7
1) 172K @/m M W @ 199K
@) 1801 4y 12oM % Jeoi () 1120M
IX-24 25 PT.O.
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85,

B7.

@n
X-24

() o
B 3

In n certain code language, 1257 mears “po
to school”, “146" means "study in schoal”,
#135" means “run to school” and "8341" means
*do run inoschool®.  What is the ¢ode for
“study” in that language ?

Ry 2
W 1

Ini & certain code, CAN =36 and BED=22
then CUT = y S

@us

(4 22

1 44

@ 66

A is brother of B and C is sister of D and B s
son of C. How is C related to A ?

{1_'._t Father
@ Mather

{3} Nephew

{4) Niece

If + means —, — means x, X means + and
+ means <. then 18x3+7+4-5=

(1y 19 (2} 0

4} 24

https://www.schools360.in/

a7

go sy sAAICE ppepda 125
eranLiang “go to school” erareyld, “146°
ersmumg “study in school”, samayn 135
eamLIanE "run to school” eremeyh WHEID
"$341° srémuens “do run in scheol” eramayth
EDEsTE, “study” eraugdn il

Mm e 3 2

@ 3 1

o rafy ﬂ..l . iwﬂ-ﬁi CAN=36

mm-nmm cuT
sraugan sRIo

(1) 44
(3 &6

88
22

2
4

A wamusat B-an =Bsrgoen oo
C sanpai D -é sGarafi wppb
B sréruat C -é@r wser srafld, C eranu
Gt A-&E, erEmer wmal ?

(1
2
(3
(4)

T g
By Bunm
sCargrenalarafidien waer
sCangyen | sCerafidiar wast

+ grerLEng - sranauh, — adnueng %
gramaylh, X SENLU@E + TeRajiD Wi
+ waruens + aaagd Gardrird
1Bx2+Ted=5=_ .

@ 20
) 24

L 19

3 22



‘88, A person is driving lowards West. What

sequence of direction showld be fllow so that
now he s driving towards South ?

(1) Left, Right, Right

) g Right. Right
(3 Left, Left, Left

(4)  Right, Left, Right

 Arrange the following words in a meaningful

|

H o >

Culting: ¥

CAEDB @ CAEBD
ACBDE (4) BCDEA

i

Arrange the lullwhm;f-%h_;_i_l,ﬁf
dictonary.

Fresh

= o T

(2) ABCDE
4) EDCBA

85, gumeuit Giods Senr Cousd QsdBpni.

tdnamm ahs sphdl wenul e

G pfiana et Uape Sos Cprid
Qeomiti 7

(1) @vg aeg aaf
) sig, wag, wog
® @i By s
4 g Bueg seg)

- Serauin it genssana GummeEbihg

Eatinp,
Eting,

(1) CAEDB {2) CAEBD.
(3) ACBDE

mBp e

g.

(#) BCDEA

. A@aoh arigegsae g

s afimeid whesiuhiys
A. Flute

B.  Feich

C. Fresh

D, Farce

E  Flsk

(1) CEABD (2} ABCDE
@ BEADC @) EDCBA
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‘ 91.

I[Lhndnydhfyutmﬂlg will be Saturday,
when will Thursday be 7

!
2
(3)
@ Day befare yesterday

Yesterday
Tomorroew

DCay after tomormow

Finidd the correct mirror image of ©
ESTREK3|

@ ENgFTAI () ENBYLST

(3 EflKex3 (3 ex8RTE3

Direction (. No. 93, ™)

91.

22,

Cppenpus wpipren saflsdipanio e,
dhimpiigenio aLGLINE sKmd 7

(1 Cepp

(2) e

(3) e Qb

() Cphepu woanBand

ESTREK3|

ardnugen samasg Slibuil -

(1) ExaATa3 (I exguisd
) Eelyexz (4 EXBRT23

ayfigpep (e, eraer. 93, 94)

Eind this odd one out Geupilile genepE sl fls
xo|[=Ix|]tli]|=]O x|o|[=[x|It]l]|=]O
B lill=lollo]x|]|=]|* B 1| l=lo]]o]x]||=X
(1) (2 (&) {1 2) 5] (4)
u[ﬂ\il#f\? w | L ilﬁf\x‘*
@ e & 0w m @ @& o
95 Which of the following words cannot be | 95, Géveugyeuaeubpin kS T EwL
farmed from the letters of the word “INTERNATIONAL® sanD -u_tftk_ll!-
"INTERNATIONAL™ ? 9 gairar g@bﬂinwj imma (B
o RRINES (PigIITg ?
(1) NATION {2) LATTE (1) NATION (2] LATTE
@ NATURE (4] INTERNAL (3) NATURE {4} INTERNAL
ix-24 28
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96. Which two faces He opposite 1o each ather, if
the piven paper is folded to form s cabe 7

=
#]C|DIE]
F ] X
(1) AandB () CandD
@” CandE () FandE
Direction (. No. 97. 95)

Splect the related figure from the given
alternatives ;

AL & 7
v
m @ o @
ol % ¥
Al e - 2
1 o
+ = o
Q Q -
4 +
m 2 &)

9. Gsr@EEsiuCGae groa sabegn
&y, gl g & o Curg g 7

Boopsruash a80ySrrs sewub 7

Al
BlCID]E|
Ll
(1) AwppbB () Cuppbd D
) Cupgub E  (4) FubpbE

wyflppemp : (&l eraw. 97, 98)

Bmr (sl Rerer Rergudhe
47, |£:!:= Al ?
1 {2 &) (4
5] :-: +
s, | & 5] O 2| - ?
x A 9]
+ = O (]
o] O = N
(1 @ @ (4)
RT.0.
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Number of triangles in the given figune is

1 7
) N

@ 9
@"13

100, 1f Sed =400, $53=144 then be5=7
1y 12 @

@ 900 ()

1331
3625

=0}o-

99, GEr@Estul e

UL i giena

api Garanih safld o s | & a5
m 7 2 9
3 11 4) 13

100, Se4=400 oHpb 443 =144 saflo #5=7

)
{3) 900

21

=olo=-
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2)
(4) 3625

1331






